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Sketch and mark any intercepts and asymptotes
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Farmer Bob’s sheep catapult wasn’t highly successful so he built a ferris wheel
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 The horizontal distance from the centre is x, and the vertical distance from the centre is y
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General equation 
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Rearrange to 
Which is two functions
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The basic circle                             can be translated vertically, horizontally, or both
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The centre is translated horizontally by…
The centre is translated vertically by…

The circles radius is…

How do we find the x and y intercepts?
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Sketch and mark any intercepts and centre
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Write the equations for these graphs





Circle Sketching
























































Circles: Introduction
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Circle translations
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